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1. Find the equation of circle whose centre is (5’ 5) and radius is —.

o Watch Video Solution

2. Find the equation of the circle whose centre is (1,2) and which passes

through the point (4,6).

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_XCf3THRhfmsY
https://dl.doubtnut.com/l/_37yuDkFFZLYQ
https://dl.doubtnut.com/l/_S9YNZi6WHQfF

3. If the equations of the two diameters of a circle are
x +y =06 and = + 2y = 4 and the radius of the circle is 10, find the

equation of the circle.

° Watch Video Solution

4.If the line 2z — y + 1 = 0 touches the circle at the point (2, 5) and the
centre of the circle lies in the line x + y — 9 = 0. Find the equation of

the circle.

° Watch Video Solution

5. Find the equation of the circle which passes through the origin and
cuts off intercepts 6 and 8 from the positive parts of = and y axes

respectively.

° Watch Video Solution



https://dl.doubtnut.com/l/_S9YNZi6WHQfF
https://dl.doubtnut.com/l/_XjDXDI9qb9Ly
https://dl.doubtnut.com/l/_sbWRyAeeZkyJ
https://dl.doubtnut.com/l/_XZz15I9V78aF

6. Find the equation of the circle which touches : y-axis and has centre at

(2,3)

° Watch Video Solution

7. Find the equation of the circle which touches : y-axis at the origin and

has radius 4.

° Watch Video Solution

8. Find the equation of the circle which touches the lines

x =0,y =0 and = = 4 and lies in the first quadrant.

° Watch Video Solution

9. Find the equation of a circle which touches both the axes and whose

radius is 2 units

° Watch Video Solution



https://dl.doubtnut.com/l/_XZz15I9V78aF
https://dl.doubtnut.com/l/_9KtzkHr3HVlq
https://dl.doubtnut.com/l/_qYccin2b6w7q
https://dl.doubtnut.com/l/_93oaZqRloIZP

10. Find the equation of the circle which has its centre at the point (3,4)

and touches the straight line b + 12y — 1 = 0.

° Watch Video Solution

11. Find the equations of the circles passing through two points on y-axis

at distance 3 from the origin and having radius 5.

° Watch Video Solution

12. Find the equation of a circle which passes through the point (2, 0)
and whose centre is the limit of the point of intersection of eth lines

%
3z + by = land(2 + ¢)z + 5c*y = lasc 1.

° Watch Video Solution



https://dl.doubtnut.com/l/_93oaZqRloIZP
https://dl.doubtnut.com/l/_Of87ZqfeHScB
https://dl.doubtnut.com/l/_kxIa4r4pH5tb
https://dl.doubtnut.com/l/_d3WiCwKPK4oQ

13. Find the equation of the circle with radius 5 whose centre lies on xaxis

and passes through the point (2, 3).

° Watch Video Solution

14. A circle has radius 3units and its centre lies on the line y = =z — 1.

Find the equation of the circle, if it passes through (7, 3).

° Watch Video Solution

15. Find the equation of the circle passing through the points

(1, — 2)and(4, — 3) and whose centre lies on the 3z + 4y = 7.

° Watch Video Solution

16. One of the diameters of the circle circumscribing the rectangle ABCD

is dy=x+vy. If Aand B are the points (—3,4) and (5,4)


https://dl.doubtnut.com/l/_WWKRqvZQzaMF
https://dl.doubtnut.com/l/_o4SZ3oZFLWZM
https://dl.doubtnut.com/l/_PTl4jwmpx7ZS
https://dl.doubtnut.com/l/_4TMphiQYQPmK

respectively, find the area of the rectangle and equation of the circle.

° Watch Video Solution

17. Find the equations of circles which touch the axes and whose centres

lie on the x — 2y = 3.

° Watch Video Solution

18. A circle of radius 2 lies in the first quadrant and touches both the axes.
Find the equation of the circle with centre at (6,5) and touching the

above circle externally.

° Watch Video Solution

19. Find the equation of the circle whose radius is 5and which touches

the circle 22 4+ y* — 2z — 4y — 20 = 0 externally at the point (5, 5).

° Watch Video Solution



https://dl.doubtnut.com/l/_4TMphiQYQPmK
https://dl.doubtnut.com/l/_ZlpXnitysdmP
https://dl.doubtnut.com/l/_wrq6lDr90ltz
https://dl.doubtnut.com/l/_80sYQAlmLQUn

20. Equation of circle whose centre is (3, — 1) and which cut off an

intercept of length 6 unit from the line: 2z — 5y + 18 = O is:

° Watch Video Solution

21. Find the equations of the circles touching y-axis at (0,3) and making an

intercept of 8 units on the x-axis.

° Watch Video Solution

22.Find the radius of the circle which touches the axis of x at a distance 3

from the origin and cuts an intercept of length 6 on the axis of y.

° Watch Video Solution



https://dl.doubtnut.com/l/_80sYQAlmLQUn
https://dl.doubtnut.com/l/_rjY7lxqWyhZR
https://dl.doubtnut.com/l/_XiGBvqQYiWlg
https://dl.doubtnut.com/l/_D50CPG5C7XPT

23. A circle of radius bunits touches the coordinate axes in the first

quadrant. If het circle makes one complete roll on = — as along he

positive direction of z — a€s, find its equation in new position.

° Watch Video Solution

24. Find the centre and radius of the circles(z + 5)% + (y — 3)* = 36

° Watch Video Solution

25. Find the centre and radius of each of the following circle:

2

x +y2

—z+2y—3=0

° Watch Video Solution

26. Find the centre and

322 +3y2 — 8z — 10y +3=0

radius of the circle

| e


https://dl.doubtnut.com/l/_RfVFkra3v3He
https://dl.doubtnut.com/l/_kQJDti47Q5i2
https://dl.doubtnut.com/l/_YeyQtxqqlU4A
https://dl.doubtnut.com/l/_4FCfqO30BruP

I & Watch Video Solution

27. Prove that the radi of the circles :I:2—|—y2:1 ,

z? + y2 — 2x — 6y = 6 and z? + y2 —4x — 12y = 9 are in arithmetic

progression.

° Watch Video Solution

28.Find the coordinates of the middle point of the chord which the circle

2?2 +y> + 4z — 2y — 3 = Ocutsoffon thelinez —y+2=0

° Watch Video Solution

29. Find the area of equilateral triangle inscribed in a circle

2?2 +y* + 22 + 2fy+¢c =0

° Watch Video Solution



https://dl.doubtnut.com/l/_4FCfqO30BruP
https://dl.doubtnut.com/l/_WgGN5IohekPe
https://dl.doubtnut.com/l/_P2XJR71oidpd
https://dl.doubtnut.com/l/_X3jvIiAfRTuF
https://dl.doubtnut.com/l/_B2TDV53Fhkek

30. Find the radius of the circle
( . ) . 2\ 1.2 . .
xcosa + ysina — a ) + (:csma —ycosa — b ) = k%, if «a varies,

the locus of its centre is again a circle. Also, find its centre and radius.

° Watch Video Solution

31. Find the equation of the circle whose centre is (h, k) and which

passes through the point (p, q).

° Watch Video Solution

32. Find the -equation of the circle passing through points

(2, —6),(6,4) and ( —3,1)

° Watch Video Solution

33. The radius of the circle passing through the vertices of the triangle

formed by thelinesz +y=2,3z —4y =6,z —y =20



https://dl.doubtnut.com/l/_B2TDV53Fhkek
https://dl.doubtnut.com/l/_ZKY083unLAUd
https://dl.doubtnut.com/l/_pdE90Kv0IFAE
https://dl.doubtnut.com/l/_E5O4iq2L9l1z

| ° Watch Video Solution

34. Find the equation of the circle passing through the origin and the

points where the line 3z + 4y = 12 meets the axes of coordinates.

° Watch Video Solution

35. Find the equation of the circle which passes through the points

(1, —2), (4, — 3) and whose center lies on the line 3z + 4y = 7.

° Watch Video Solution

36. Show that the points (5, 5), (6,4), ( — 2,4) and (7, 1), all lie on a

circle. Find its equation, centre and radius.’

° Watch Video Solution



https://dl.doubtnut.com/l/_E5O4iq2L9l1z
https://dl.doubtnut.com/l/_eqh7RmayRprR
https://dl.doubtnut.com/l/_npWVbzxGfX0c
https://dl.doubtnut.com/l/_HemSMKApSJJG

37.Find the equation of the circle which passes through the centre of the
circle 22 +y*+ 8z + 10y — 7 =0 and is concentric with the circle

222 +2° — 8z — 12y —9 =0

° Watch Video Solution

38. Find the equations of the circles touching y-axis at (0,3) and making

an intercept of 8 units on the x-axis.

° Watch Video Solution

39. The equation of circle which passes through (1, -1) and which touches

the line 6z + y — 18 = 0 at point (3, 0) is

° Watch Video Solution



https://dl.doubtnut.com/l/_fBIC4SoUR1f8
https://dl.doubtnut.com/l/_88roYvVV3c0g
https://dl.doubtnut.com/l/_XsO4XFqQaKJK

40. Show that a «cyclic quadrilateral is formed by the lines
5 +3y=9,¢ =3y,2x =y and = + 4y + 2 = 0 taken in order. Find

the equation of the circumcircle.

° Watch Video Solution

41. Examine whether the following equation represents a circle or not :

3z + 3y +2zy+ 3z +y =0

° Watch Video Solution

42. Examine whether the following equation represents a circle or not :

4® + 4> + 122 + 8y +40=0

° Watch Video Solution



https://dl.doubtnut.com/l/_Ep4DvpTSbcF2
https://dl.doubtnut.com/l/_NV76gDABiDy6
https://dl.doubtnut.com/l/_r90aHmktmgm6

43. Examine whether that equations reprsent a circle, point or no circle :

2?49y -3z +3y+10=0

° Watch Video Solution

44.Examine whether that equations reprsent a circle, point or no circle :

m2+y2+2m+1:0

° Watch Video Solution

45. Examine whether that equations reprsent a circle, point or no circle :

24+ —1=0

° Watch Video Solution

46.Find the equation of the circle when the end points of a diameter are

(5, —3) and (2, — 4).Also find its centre and radius.

| e |


https://dl.doubtnut.com/l/_CtRdECaLiu6q
https://dl.doubtnut.com/l/_V2ghOCfCpXRn
https://dl.doubtnut.com/l/_N2eGkHNGCsnw
https://dl.doubtnut.com/l/_nc29T0TLdgZ0

I &J Watch Video Solution

47. The abscissa of the two points A and B are the roots of the equation
22 4 2az — b> = 0 and their ordinates are the roots of the equation
z? + 2px — q2 = 0. Find the equation of the circle with AB as diameter.

Also, find its radius.

° Watch Video Solution

48. Find the equation of the circle passing through the origin and the

points where the line 3z + 4y = 12 meets the axes of coordinates.

° Watch Video Solution

49. Find the equation of the circle whose diameter is the portion of the

line 3z 4+ 4y — 14 = 0, intercepted by the lines y = z and 11z = 4y.

° Watch Video Solution



https://dl.doubtnut.com/l/_nc29T0TLdgZ0
https://dl.doubtnut.com/l/_ZSjqctOXk6rX
https://dl.doubtnut.com/l/_9gov9tWbBC0b
https://dl.doubtnut.com/l/_qsdUNfCgtcU0

50. The sides of a square are x = 1,2 = 3,y = 2 and y = 4.Find the
equation of the circle drawn on the diagonal of the square as its

diameter.

° Watch Video Solution

51. Find the parametric equations of that circles : 32> + 3y? = 4

° Watch Video Solution

52. Find the parametric form of the equation of the circle

2> +y? +pxr+py=0.

° Watch Video Solution

53. Find the parametric equations of that circles

2¢2 + 2y — b5z —Ty—3=0

| e |


https://dl.doubtnut.com/l/_g4zWbuwnNPuX
https://dl.doubtnut.com/l/_kWCRACrFqVWx
https://dl.doubtnut.com/l/_qUHrcJgFguLO
https://dl.doubtnut.com/l/_dXsUUS2CCP4h

I &J Watch Video Solution

54. Find the equation of a «circle whose diameters are

2z — 3y + 12andzx + 4y — 5 = 0 and area is 154squareunits-

° Watch Video Solution

55. Find the Cartesian euqaiton of that curves whose parametric equation

cx =T+ 4cosa,y= — 3+ 4sina

° Watch Video Solution

56. Find the Cartesian euqaiton of that curves whose parametric equation

:x =5+ 3cosf,y="7+ 3sinb

° Watch Video Solution



https://dl.doubtnut.com/l/_dXsUUS2CCP4h
https://dl.doubtnut.com/l/_ERXCNlDgp74f
https://dl.doubtnut.com/l/_0rHzm5xYKbB1
https://dl.doubtnut.com/l/_Jje6jUk5OYu1

57.Find the Cartesian euqaiton of that curves whose parametric equation

:x = cosf +sinf + 1,y = sinf — cos O + 2

° Watch Video Solution

58. Show that equations = = acosf + bsinf,y = asinf — bcos

represents a circle, wheter 0 is a parameter.

° Watch Video Solution

59. Show that the point (z,y) given b 20t nd L
. o a e poin en = =
w point (x,y) giv y T 1+t2any e

lies on a circle for all real values of ¢t such that —1 <t < 1, where a is

any given real number.

o Watch Video Solution



https://dl.doubtnut.com/l/_N1GpY7Omo9y8
https://dl.doubtnut.com/l/_P8Fnmt6DsX7u
https://dl.doubtnut.com/l/_Xnm7yFbGOQFk
https://dl.doubtnut.com/l/_O8Ra66Xw0Fuv

1. Find the equation of the circle with : Centre( — 3, 2) and radiusb.

° Watch Video Solution

2.Find the equation of the circle with : Centre( — 3, — 2) and radius?.

° Watch Video Solution

3.Find the equation of the circle with: Centre (a, a) and radius v/2a .

° Watch Video Solution

4.Find the equation of the circle with : Centre(1, — 5) and radiusT.

° Watch Video Solution

5.Find the equation of the circle with : Centre(0, 0) and radius4.



https://dl.doubtnut.com/l/_O8Ra66Xw0Fuv
https://dl.doubtnut.com/l/_uh8m3NDa3Kka
https://dl.doubtnut.com/l/_z5ZlD79Lynpd
https://dl.doubtnut.com/l/_NZ4e7AaMk6j0
https://dl.doubtnut.com/l/_b9JwUeJnySXH

| ) Watch Video Solution

6. Find the equation of the circle with : Centre(1, 1) and radius+/2.

° Watch Video Solution

7.Find the equation of the circle with : Centre( — 2, 3) and radius4.

° Watch Video Solution

8. Find the equation of the circle with centre: (0, 2) and radius 2

° Watch Video Solution

11 1
9. Find the equation of the circle with centre : (5, Z) and radius S

o Watch Video Solution



https://dl.doubtnut.com/l/_b9JwUeJnySXH
https://dl.doubtnut.com/l/_C3xPb3Ze97q6
https://dl.doubtnut.com/l/_qMhOyhQDQKC8
https://dl.doubtnut.com/l/_8gLhrKch2BlD
https://dl.doubtnut.com/l/_DvVlpQxjedQ3
https://dl.doubtnut.com/l/_Z0vP1o7mF1A7

10. Find the equation of the circle with : Centre( — 3, 2) and radius4.

° Watch Video Solution

1. Find the equation of the circle with

Centre( — a, — b) and radiusy/a® — b°.

° Watch Video Solution

12. Find the equation of the circle with: Centre (acosa, a s € a) and

radius a-

° Watch Video Solution

13. Find the equation of the circle with

Centre( — 1, — 2) and diameter25.

° Watch Video Solution



https://dl.doubtnut.com/l/_Z0vP1o7mF1A7
https://dl.doubtnut.com/l/_kyMFVOrqIWKi
https://dl.doubtnut.com/l/_hSJsY8kncBjh
https://dl.doubtnut.com/l/_MtqCoB1fmCtD

14. Find the equation of the circle passing through (0, 0) and making

intercepts a and b on the coordinate axes.

° Watch Video Solution

15. Find the equation of the circle passing through the origin and cutting

intercepts 10 and 24 from the positive side of £ and y axis respectively

° Watch Video Solution

16. Find the equation of the circle touching : x-axis andhaving centre at (4,

3)

° Watch Video Solution

17. Find the equation of the circle touching : x-axis at the origin and

having radius 10


https://dl.doubtnut.com/l/_MtqCoB1fmCtD
https://dl.doubtnut.com/l/_xiTOP7ObXbv3
https://dl.doubtnut.com/l/_z0QMK0v4JMK9
https://dl.doubtnut.com/l/_zyydGMlLE7WQ
https://dl.doubtnut.com/l/_zyoEf0LR1JZ0

° Watch Video Solution

18. Find the equation of the circle which passes through two points on

the x-axis which are at distances 4 from the origin and whose radius is 5.

° Watch Video Solution

19. Find the equation of the circle with centre (2, 2) and passing through

the point (4, 5).

° Watch Video Solution

20. Find the equation of image of the circle (z — 1)* + (y + 2)> = 5% in

the x-axis.

° Watch Video Solution



https://dl.doubtnut.com/l/_zyoEf0LR1JZ0
https://dl.doubtnut.com/l/_pJyh1zWaWFns
https://dl.doubtnut.com/l/_IkUIplKXT6AI
https://dl.doubtnut.com/l/_gn4khlV02N99

21. Find the equation of the circle passing through the point (2, 4) and
centre at the point of intersection of the lines

rx—y=4and 2z +3y= — 1.

° Watch Video Solution

22. | the -equations of two diameters of a circles are
2z + y = 6 and 3x + 2y = 4 and the radius is 10, find the equation of

the circle.

° Watch Video Solution

23. Find the equation to the circle which passes through the point of
intersection of 3z —2y—1=0and 4o +y—27=0 and whose

centreis (2, 3)

° Watch Video Solution



https://dl.doubtnut.com/l/_0qfO6CD4TzQA
https://dl.doubtnut.com/l/_XmHjCBFy1Ifo
https://dl.doubtnut.com/l/_O9M4jNatL17Y
https://dl.doubtnut.com/l/_QOgHIqqigZKr

24. Find the equation of the circle whose centre is (2, — 3) and which
pass through the point of intersection of

3z + 2y = 11 and 2x + 3y = 4.

° Watch Video Solution

25. Find the equation of the circle passing through the centre of the

circle z? +y*> — 4z — 6y = 8 and being concentric with the circle

m2+y2—2m—8y:5.

° Watch Video Solution

26. Find the equaiton of the circle passing through the point of
intersection of z + 3y = 0 and 2z — 7y = 0 and whose centre is the

point of intersection of linesz +y+1=0and z —2y+4 =0

° Watch Video Solution



https://dl.doubtnut.com/l/_QOgHIqqigZKr
https://dl.doubtnut.com/l/_82z7c3dkk9Oy
https://dl.doubtnut.com/l/_bSdwIcGS6mb5

27. Find the equation of circle whose centre is the point (1, — 3) and

touches theline2x —y—4=0

° Watch Video Solution

28. Find the equation of the circle of radius 5 whose centre lies on y-axis

and which passes through the point (3, 2).

° Watch Video Solution

29. Find the equation of the circle whose radius is 5 and centre lies on the

positive side of x-axis at a distance 5 from the origin.

° Watch Video Solution

30. Find the equation of the circle which passes through the points

(—1,2) and (3, — 2) and whose centre lies on the line z — 2y = 0.

| e |


https://dl.doubtnut.com/l/_QcPLHDWaBreY
https://dl.doubtnut.com/l/_8VLdeSh36tXe
https://dl.doubtnut.com/l/_rzOfsoWxoNlK
https://dl.doubtnut.com/l/_rZurGSSZKdDX

l & Watch Video Solution J

31. Find the equation of the circle passing through the points (2, 3)

and (1, 1) and whose centre is on the line z 3y 11 = 0.

° Watch Video Solution

32. Find the equation of the circle which passes through the points

(2, — 2),and (3,4) and whose centre lies on the linexz + y = 2.

° Watch Video Solution

33. Find the equation of the circle passing through the points (4, 1) and

(6, 5) and whose centre is on the line 4 4+ y = 16.

° Watch Video Solution



https://dl.doubtnut.com/l/_rZurGSSZKdDX
https://dl.doubtnut.com/l/_GbI8Jrt2tRdv
https://dl.doubtnut.com/l/_ZxJzE7hwYABR
https://dl.doubtnut.com/l/_gGnjU78dE2O0

34. Find the equation of the circle which touches the axis of y at a
distance 4 from the origin and cuts off an intercept of length 6 on the

axis of z.

° Watch Video Solution

35. Does the point ( — 2.5,3.5) lie inside, outside or on the circle

z? 4 % = 25?

° Watch Video Solution

36. Find the centre and radius of the circlesz? + y? — 8z + 10y — 12 =0

° Watch Video Solution

37. Find the <centre and the radius of the circle

2 +9y® + 8+ 10y —8=0.

| e |


https://dl.doubtnut.com/l/_cb2uPneYFSKH
https://dl.doubtnut.com/l/_JWY2uIn4DsHs
https://dl.doubtnut.com/l/_7zxaftOc4Zus
https://dl.doubtnut.com/l/_tKFUJ0p8Gw1O

| & Watch Video Solution

38. Find the centre and radius of the circles2z? + 2y*> —z = 0

o Watch Video Solution

39. Find the centre and radius of the circlesz? + y? — 4z — 8y — 45 = 0

o Watch Video Solution

40. Find the centre and radius of each of that circles : 22 + (y — 1)* = 2

o Watch Video Solution

41. Find the centre and radius of each of that circles

m_12+ +12_1
2 YT3) T 1

o Watch Video Solution



https://dl.doubtnut.com/l/_tKFUJ0p8Gw1O
https://dl.doubtnut.com/l/_I9snRZvAEchm
https://dl.doubtnut.com/l/_dZHwllKOGUhW
https://dl.doubtnut.com/l/_BPFYlvSb2bSi
https://dl.doubtnut.com/l/_jIetHyIjY6SK

42, Find the centre and radius of each of that circles

22+ — 2z + 4y =8

° Watch Video Solution

43. Find the centre and radius of each of that circles

w2+ y? 4z +6y=5

° Watch Video Solution

44, Find the centre and radius of the circles

2?2 +y? — 8z — 12y — 48 =0

° Watch Video Solution

45, Find the centre and radius of the circles : 2° + y? — az — by = 0

Y.


https://dl.doubtnut.com/l/_jIetHyIjY6SK
https://dl.doubtnut.com/l/_u5UOp50RNBDH
https://dl.doubtnut.com/l/_DGl4b24vaqNl
https://dl.doubtnut.com/l/_Jsdm0XTaJiEM
https://dl.doubtnut.com/l/_96stILP5kEp7

| ¥ Vvatch Video Solution J

46. Find the centre and radius of the circles

322 + 3y  + 12z — 18y —11=0

° Watch Video Solution

47.Find the centre and radius of the circles : % + y? — 2z + 4y = 8

° Watch Video Solution

48. Find the centre and radius of the circles

1
5(932 +y2) + xcosf + ysinfd —4 =0

° Watch Video Solution

49. Prove that the centres of the circles %+ y? =1,

2>+ y? +6z —2y—1=0andz? + y? — 12z + 4y = 1 are collinear


https://dl.doubtnut.com/l/_96stILP5kEp7
https://dl.doubtnut.com/l/_BWCHR6StF7jI
https://dl.doubtnut.com/l/_GfkXbJepASGO
https://dl.doubtnut.com/l/_3dwI6tJfNmIW
https://dl.doubtnut.com/l/_L9jbsGl3UexL

° Watch Video Solution

50. Prove that the centres of the three circles
2 2 . 2 2 - 2 2
x* 4y —4dr—6y-12=0,2" +y" +2x +4y— 5 =0 and z° + y° — 10z-

are collinear.

° Watch Video Solution

5. Prove that the vradi of the circles x4y =1 |,
z? + y2 — 2x — 6y = 6 and z? + y2 —4x — 12y = 9 are in arithmetic

progression.

° Watch Video Solution

52. Prove that the radii of the circles
$2—|—y2 :4,4:c2+4y2—8w—24y—|—15:0 and w2+y2—4y—5:0

are in arithmetic progression.

. l


https://dl.doubtnut.com/l/_L9jbsGl3UexL
https://dl.doubtnut.com/l/_eTQGYe8bgV2Z
https://dl.doubtnut.com/l/_F80YQUBgeFcs
https://dl.doubtnut.com/l/_tTvzzC2pGPU6

| ¥ vvatcn video solution

53. Find the equation of the circles passing through the three points :

(0,0), (5,0) and (3, 3)

° Watch Video Solution

54. Find the equation of the circles passing through the three points :

(1,0),(0,1) and ( — 1, 0)

° Watch Video Solution

55. Find the equation of the circles passing through the three points :

(1, — 2), (5,4) and (10, 5)

° Watch Video Solution



https://dl.doubtnut.com/l/_tTvzzC2pGPU6
https://dl.doubtnut.com/l/_HBqgwT1BnfxA
https://dl.doubtnut.com/l/_BCxg6HJ2LGR2
https://dl.doubtnut.com/l/_QJheSWwqiR9r

56. Find the equation of the circles passing through the three points :

(1,2),(3, —4) and (5, — 6)

° Watch Video Solution

57. Find the equation of the circle circumscribing the triangle formed by

the straight linesz +y =6,2z +y =4 and = + 2y = 5.

° Watch Video Solution

58. Find the equation of the circle which is concentric with the circle

22 + y*> — 4z + 6y — 3 = 0 and the double of its area.

° Watch Video Solution

59. Find the equation of the circle concentric with the circle

2x¢2 + 2y® — 6z + 8y + 1 = 0 and of double its area.

| e |


https://dl.doubtnut.com/l/_DVnpyIGRnHNK
https://dl.doubtnut.com/l/_UCWbsK3D2T4F
https://dl.doubtnut.com/l/_kuTp3OmwB2HI
https://dl.doubtnut.com/l/_7OYE4w6mlcWV

l & Watch Video Solution J

60. Find the equation. of the circle concentric with the

2>+ y? + 4z — 8y — 6 = 0and having radius double of its radius.

° Watch Video Solution

61. Find the equation of the circle concentric with the circle

2

x +y2

— 4z — 6y — 9 = 0 and passing through the point ( — 4, — 5)

° Watch Video Solution

62. Find the equation of the circle passing through the points (1, — 1)
and centre at the intersection of the lines

r—y=4and 2z +3y= — 7

° Watch Video Solution



https://dl.doubtnut.com/l/_7OYE4w6mlcWV
https://dl.doubtnut.com/l/_ozlsR27dst7o
https://dl.doubtnut.com/l/_Hf6llXLFclXI
https://dl.doubtnut.com/l/_g1A4pVft2SvN
https://dl.doubtnut.com/l/_X1qwt5jqPm2a

63.The line 5z — y = 3 is a tangent to a circle at the point (2, 7) and its

centre is on theline z + 2y = 19. Find the equation of the circle.

° Watch Video Solution

64. If the line 4z — 3y = — 12 is tangent at point ( — 3, 0) and the line
3z + 4y = 16 is tangent at the point (4, 1) to a circle then equation of

circle

° Watch Video Solution

65. Find the equation of the circle circumscribing the quadrilateral
formed by the straight lines

x—y=0,3c+2y=5z—y=10and 2z + 3y =0

° Watch Video Solution



https://dl.doubtnut.com/l/_X1qwt5jqPm2a
https://dl.doubtnut.com/l/_somXos4zcx8L
https://dl.doubtnut.com/l/_27f7LkFL9eN4

66. Find the equation of the circle passing through the points

(0, — 1) and (2, 0) and whose centre lies on the line3z +y =5

° Watch Video Solution

67. Find the equaiton of the circle passing through the points

(2, —3) and (3, — 2) and whose centre lies on the line 2z — 3y = 8.

° Watch Video Solution

68. Determine whether the equation represent a circle or not :

3z% — 3y + 4z — 6y + 10=0'

° Watch Video Solution

69. Determine whether the equation represent a circle or not :

52 + 5y° + 2zy+ 4z —y+2=0

| e |


https://dl.doubtnut.com/l/_MNe0hDulCrOE
https://dl.doubtnut.com/l/_QsxESAP0Amdv
https://dl.doubtnut.com/l/_203oDZ7TtXpJ
https://dl.doubtnut.com/l/_TEHe0IeyqMpA

| & Watch Video Solution I

70. Determine whether the equation represent a circle or not :

5z2 + 5y + 4z — 8y — 16 = 0

o Watch Video Solution

71. Determine whether the equation represent a circle or not

22+ 4%+ 6z — 8y +50 =0

o Watch Video Solution

72. Determine whether the equation represent a circle, a point or no

cirde:z*> +9* +z —y =0

o Watch Video Solution



https://dl.doubtnut.com/l/_TEHe0IeyqMpA
https://dl.doubtnut.com/l/_AjKLkcuknjjF
https://dl.doubtnut.com/l/_ywr4ecavhOae
https://dl.doubtnut.com/l/_VS1B0OKjtxdK

73. Determine whether the equation represent a circle, a point or no

circle:z? +y? — 6z —8y+25=0

° Watch Video Solution

74. Determine whether the equation represent a circle, a point or no

circle: 2% + y% + 22 + 10y + 26 = 0

° Watch Video Solution

75. Determine whether the equation represent a circle, a point or no

circle : 222 + 2y? — 24z + 8y + 120 = 0

° Watch Video Solution

76. Find the equation of the circle when the end points of a diameter of

thecircleare: (3,4) and ( — 3, — 4)
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https://dl.doubtnut.com/l/_Lp5J1sk6EKzk
https://dl.doubtnut.com/l/_Di8Ucc5HmTH3
https://dl.doubtnut.com/l/_oMeN59gd5YNf
https://dl.doubtnut.com/l/_3moTICh4Be2T

l & Watch Video Solution J

77. Find the equation of the circle when the end points of a diameter of

thecircleare: ( — 2,3) and (3, — 5)

° Watch Video Solution

78. Find the equation of the circle when the end points of a diameter of

the circle are: (0,0) and (2, — 4)

° Watch Video Solution

79. Find the equation of the circle when the end points of a diameter of

thecircleare: ( — 2, — 3) and ( — 3,5)

° Watch Video Solution



https://dl.doubtnut.com/l/_3moTICh4Be2T
https://dl.doubtnut.com/l/_SEvfFEUPqJjr
https://dl.doubtnut.com/l/_CKWYapqITY5M
https://dl.doubtnut.com/l/_iYeSsTI2wVE0

80. Find the equation of the circle when the end points of a diameter of

the circle are: (p, ¢) and (r, s)

° Watch Video Solution

81. Find the equation of the circle when the end points of a diameter of

thecircleare: (2,3) and ( — 1, — 3)

° Watch Video Solution

82. Find the equation of the circle when the end points of a diameter of

the circle are: (3, 2) and (2, 5)

° Watch Video Solution

8. Find the equation of the circle, the end points of whose diameter are

(2, —3) and ( — 2, 4).Find its centre and radius.
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https://dl.doubtnut.com/l/_GQP0rYsy5G2T
https://dl.doubtnut.com/l/_BHWRegjXllas
https://dl.doubtnut.com/l/_NScRtHEiIpeM
https://dl.doubtnut.com/l/_UrGpVHeZg97C

l &J Watch Video Solution J

84. Find the equaiton of the circle drawn on the intercept between the

axes made by the line 3z + 4y = 12 as a diameter.

° Watch Video Solution

85. Find the equaiton of the circle drawn on the intercept between the

axes made by the line 3z + 4y = 12 as a diameter.

° Watch Video Solution

86. Show that equation of the circle passing through the origin and

cutting intercepts a and b on the coordinate axes s

2+ y P —ar—by=0

° Watch Video Solution



https://dl.doubtnut.com/l/_UrGpVHeZg97C
https://dl.doubtnut.com/l/_aduL31Fhs2Yz
https://dl.doubtnut.com/l/_XY28Guvdywhf
https://dl.doubtnut.com/l/_rXdNXh1qPEQN
https://dl.doubtnut.com/l/_rvLoUdeaqA14

87. Find the equation of the circle the end points of whose diameter are
the centres of the cirde : z®>+y’>+6z—14y=1 and

2 4+ y? — 4z + 10y = 2.

° Watch Video Solution

88. The abscissae of two points A and B are the roots of the equaiton
2?4+ 2z —a® =0 and the ordinats are the roots of the equaiton
y> + 4y — b® = 0. Find the equation of the circle with AB as its
diameter. Also find the coordinates of the centre and the length of the

radius of the circle.

° Watch Video Solution

89. If (4, 1) be an end of a diameter of the circle
22 +y*> — 2z + 6y — 15 = 0, find the coordinates of the other end of

the diameter.

° Watch Video Solution



https://dl.doubtnut.com/l/_rvLoUdeaqA14
https://dl.doubtnut.com/l/_toRWFZBCVOSp
https://dl.doubtnut.com/l/_c8B33WEouwXt

90. The sides of a rectangle are given by the equations x=-2, x = 4, y=-2
andy=5. Find the equation of the circle drawn on the diagonal of this

rectangle as its diameter.

° Watch Video Solution

91. Find the equaiton of the circle drawn on a diagonal of the rectangle as

its diameter whose sidesare:z =5, x =8, y=4,y=7

° Watch Video Solution

92. The sides of a squareare z =6, x =9, y = 3and y = 6. Find the

equation of a circle drawn on the diagonal of the square as its diameter.

° Watch Video Solution



https://dl.doubtnut.com/l/_c8B33WEouwXt
https://dl.doubtnut.com/l/_LPNPDzgJQamw
https://dl.doubtnut.com/l/_NJscSGetRtkg
https://dl.doubtnut.com/l/_j1skJTeVkW7l

93. Find the equation of the circle circumscribing the rectangle whose

sidesare:x =4,z = —5,y=5y= —3

° Watch Video Solution

94. Find the equation of the circle circumscribing the rectangle whose

sidesare:z =6,z = —3,y=3,y= —1

° Watch Video Solution

95. Find the equation of the circle circumscribing the rectangle whose

sidesare:x —3y=4,3x+y=22,x — 3y = 14,3z +y = 62

° Watch Video Solution

96. Find the parametric equation of the circles : 2 + y? = 9

° Watch Video Solution



https://dl.doubtnut.com/l/_GakWOPg0Krag
https://dl.doubtnut.com/l/_YUQSBk75XRKE
https://dl.doubtnut.com/l/_MfU79eALCiEO
https://dl.doubtnut.com/l/_3Ayt9U0RoJD1

97. Find the parametric equation of the circles
2 2 _

4ty " +2xr—4y—1=0
o Watch Video Solution

98. Find the parametric equation of the circles
2 2 _

4ty " —2x+4y—4=0
o Watch Video Solution

99. Find the parametric equation of the circles

322+ 3yt +4z —6y—4=0

o Watch Video Solution



https://dl.doubtnut.com/l/_3Ayt9U0RoJD1
https://dl.doubtnut.com/l/_TzYgSw13pJCj
https://dl.doubtnut.com/l/_JQb4yleTIMKD
https://dl.doubtnut.com/l/_jirabJGGBoxH

100. Find the Cartesian equation of the curves whose parametric

equation are: x = 5cos 6, y = 5sinf

° Watch Video Solution

101. Find the Cartesian equation of the curves whose parametric equation

are:x = a—+ccosa,y =b+ csina

° Watch Video Solution

102. Find the Cartesian equation of the curves whose parametric equation

are:x = 3cosa, y = 3sina

° Watch Video Solution

103. Find the Cartesian equation of the curves whose parametric equation

are:x =14 3cosf,y =2 — 3sinb
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https://dl.doubtnut.com/l/_RhElivyAJUAd
https://dl.doubtnut.com/l/_vTJAB3FqbnCZ
https://dl.doubtnut.com/l/_2ywJXTuQzeQu
https://dl.doubtnut.com/l/_VfvUqLTmK3Um

l & Watch Video Solution J

104. Find the Cartesian equation of the curves whose parametric

equation are: x = cosf + sinf, y = sinf — cos 0

° Watch Video Solution

105. Find the Cartesian equation of the curves whose parametric equation

20t 5(4 — t?)

are . r = —
4+ﬁ’y 4+ ¢2

o Watch Video Solution

106. Prove that : z cos@ + ysinf = a and xsinf — ycos@ = b are the

parametric equations of a circle for all 6 satisfying 0 < 6 < 27

o Watch Video Solution



https://dl.doubtnut.com/l/_VfvUqLTmK3Um
https://dl.doubtnut.com/l/_ySLfcU1EfgcV
https://dl.doubtnut.com/l/_ivFDS4OjNgLy
https://dl.doubtnut.com/l/_g2cv3RSxLR5g

107. Show that : x =acosf — bsinf and y = asinf + bcos 0,

represent a circle where 0 is the parameter.

° Watch Video Solution

108. Show that the point (z,y) , where £ = 5cosf,y = — 3 + 5sin6,

lies on a circle for all values of ‘theta

° Watch Video Solution

109. Show that the point (z, y), where £ = a + rcos @,y = b + rsiné,

lies on a circle for all values of 6.

° Watch Video Solution



https://dl.doubtnut.com/l/_UjAeqz447v7C
https://dl.doubtnut.com/l/_RJKp9S5XSKtB
https://dl.doubtnut.com/l/_qkLdlgtUoS42

